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3. Youhave to mark (@) the right alternative (A or B or C or D) for each question
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(R wusadlil 35 uad Hieel A0y [Asan (A »al B »aal C 2iaa D)
uaie 53 sl [ arevll sladlS-2 U a3 Rdld (@) 534, |
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English text will be final. |
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1.  Find the correct statement(s) about the national emergency:

1. The proclamation of emergency must be approved only by Lok Sabha within one month
from the date of its issue. ' '

2. It continues for six months, if approved by both the Houses of Parliament.

3. National Emergency can be extended to an indefinite period with an approval of the Parliament
for every six months.

4. National Emergency has been proclaimed only once till now.

Answer codes_:r

(A)land4 ~ (B)2and3

(C)2,3and4 . (D)1,2and4 -

Al 52154l (A9l L el e :

1. 525380 emendl didliell A 1R+l e st dlsAL gL AR 4R s2uadl viads 8.
2. R ALl A 38l girL HogR sl 2Ud dl, o 9 el Yol g e B,

3. AU glRLER &9 WA Hadl vl Ay 52153 virlasia Yol doudl asiy.

4. iR Yl Al 52152 Hist M8 o AR A8 s >l 9.

el [Aseul :
(A) 121 4 (B) 2 i1 3
(C) 2, 3 v 4 (D) 1, 2 4 4

2.  Find the correct statement(s) about the Deputy Chairman of Rajya Sabha:

1. This post is born out of parliamentary convention, but it's not mentioned in the Constitution
of India.

2. The salary and allowance of Deputy Chairman are fixed by the President.
Answer codes:

(A)Only 1 (B) Only 2

(C) Both 1 and 2 o (D) None of the above
AL Guisg [ L Rde [ [Adedl k.

1. il SLEL ALY uuudl F-dl © Ul U+l ol Al Gedvt «iell.
2. A%2UMA glRL GUisErl YALR 2 ¢l AAss] s 2Ud 9.

ogaot-l [dseul :
(A) Wt 1 (B) 4l 2

(C) 1 24 2 6iA ' (D) GuAsanidl 3y ¢l
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3. Which of the following fundamental rights are available to foreigners in India who are not
enemy aliens ?

1. Protection in respect of conviction for offences

2. Right to elementary education

3. Freedom to propagate their religion

4. Prohibition of discrimination on grounds of place of birth

Answer codes:

(A) Only 1 and 2 (B) Only 2 and 3 and 4

(C) Only 1 and 3 and 4 (D) Only 1, 2 and 3

o] e U4 suL 4G ABSIRL g 2ol B2 Reuunl RR0N 46 & ?
1. Auadi-l vz olod Aes

2. wRMs Rl HRsR

3. dul 93l WAR scul 92

4. YR R Healld GuR Uiy

et [Aseul :
(A) M2 1 24 2 : (B) WioL 2 349 3 A 4
©HAT A3 2A 4 (D) st 1, 2 A 3

4.  Find the incorrect statements about ghe Election Commission of India:
1. It is a constitutignal body created under article 324.
2. It doesn’t conduct the elections to Panchayats by itself. _
3. Chief Election Commissioner enjoys more powers than the other two election commissioners.

4. As per our Constitution, retired Election Commissioners are debarred from any appointment
under the Government.

Answer codes:

(A)1and?2 ‘ (B) 2 and 3

(C)3and 4 . . (D) 1, 2 and 3

*IRcrL el Y2, (A viler Raexd) g,

1. d 21g2de 324 dstiefl 915 oisRel, 2zl B,

2. 298 YAl 2eell=l sauag <,

3. yoa Aeell sManz vty & eall sPa sl Ay Al 4 B,

4. 2R 6IHIREL AL [Fgn 2eall sParAa U8R sl Sust Myl Hiel oisid Avami

2§1de B,
gL [Aseul : '

(A) 122 -~ (B)2 A 3
(C) 3 > 4 D) 1,243
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8. Which of the following statement(s) is/are correct about the soils of India ?

1. Alluvial soil is poor in phosphorus.

2. Black soil is poor in nitrogen and phosphorﬁs.

3. Laterite soil is rich in potash. '

Answer codes:

(A)Only land2 (B) Only 2 and 3

(€)1, 2and3 (D) Only 1

GiResll oIl (A2 [t U4 s21 [Qeaiet w2 & 7

1. siuanoll o{lui 126231 el ssusi u 8.

2. 5160l {3l St 2 1263 2Nl WML 1Y D .

3. @2ude wI-ui Wlets ¥y Mol Sl 8.

paiei-i [dseul : o

(A) {1 2 2 ; (B) Hist 2 49 3

©1,2%13 (D) ¥t 1 ,
9.  Which of the following manages the ‘Bio Carbon Fund Initiative For Sustainable Landscape’ ?

(A) Asian Development Bank

(B) World Bank

(C) United Nations Development Programme

(D) None of the above

[t 4L Shet 2616 AmsRdu w2 oud) siofd oidad] ude’ A daulid 53 & ?

(A) vy [Qsi 6ls

B) [~ ols

(C) AYsd AL [Qs sifsy

(D) GuRAsaxidl 23y Al

10. Which of the following pollutant in not in the original list of eight pollutants measured under
the ‘Air Quality Index’ of India ?

(A) Ozone

(B) Carbon Dioxide

(C) Lead

(D) Carbon Monoxide

[Fet U4l 530 UGUS SURAAL ‘Sell RlaTil YASIS™ME UL Hiddl 2l ngusi-l 3o wiglui
"yl ? |

(A) B0t (B) si6l- 315ASS

(C) (D) stole {5083
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11. Find the correct statement(s) about the Mission PARIVESH:
1. It is the poftal for monitoring the implementation of the Paris Agreement in India.
2. It is designed by the Niti Aayog.
Answer codes: ‘
(A) Only 1 C (B) Only 2
(C) Both 1 and 2 (D) None of the above
(Ratt wRdal 2400 il [Rde () 2ldl :
1. d URA 5L suRAML Hudlsal 2uv sdl e Uldd ©.
2. 44 [ 24101 gIRL sielaHi HAd D,

ogeneiil [dseul :
(A) Hia 1 (B) Hla 2
(C) 1 A 2 6iR | (D) GuASsHi]l A3y 4l

12.  Which of the following statement(s) is/are incorrect about organic farming ?
1. Organic farming requires more labour than conventional farming.
2. Productivity in organic farming is higher than conventional farming.
Answer codes:
(A) Only 1 - (B) Only 2
(C) Both 1 and 2 : (D) None of the above
¥(as vidl A Mt UL vilel QA () 54 /s ?
1. y3udld vidl s2dl A5 Wl ay sl o3 w3 9.
2. u3uRLold Wl sdi HlAs Adlul Gaulesdl adR slu 9.

ogeueir [dseu) :
(A) 1A 1 - B)HIA2
(C) 1 24 2 6id - (D) GuAsanidl »3y €l

13. Find correct statement(s) about Nalabana:

1. Nalabana Bird Sanctuary is located at Odisha.

2. The Nalabana island is a part of the Chilika Lake.

Answer codes:

(A) Only 1 ‘ (B) Only 2

(C) Both 1 and 2 (D) None of the above
Aol (A9 ual Rdest AL sl :

1. «tietiot-il wall xieuey iRl Rad 8.

2. ldloil 21y Rlast doudrdl 215 ool .

sy [aseul
(A) 4t 1 (B) 112t 2
(C) 121 2 6l (D) GuAsamidl 215 vgL -1l
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14. Find the correct statement(s) about South Asia Wildlife Enforcement Network (SAWEN):
1. Both India and Pakistan are its members.
2. Its secretariat is in Dhaka, Bangladesh.
Answer codes:
(A) Only 1 : (B) Only 2
"(CO)Bothland2 @ (D) None of the above _
elRal A aruad Uad A2as @A) QA e Mded () D :
1. ®URd 2 WUBReLA oln dell Usdll 8.
2. dg AlRaiay (v Has) alst, olideudami »udg B

gt [dseu) :
(A) W=t 1 . (B) M2 2
(C) 1 214 2 64 (D) Gusanizdl A3y ]

15. Find the correct statement(s) about World Wetland Day ?
1. 1t is celebrated on 2nd February every year.
2. The theme for 2019 is ‘‘wetlands and climate change’’.
Answer codes:
(A)Only 1 , (B) Only 2
(C) Both 1 and 2 ) (D) None of the above
(A2 weraildd [ (@2dxs) Baa @A wal Mag- () -m%u
1. €2 a¥ ofley 3yl dd Gl 2ud 8.
2. 2019 M2l o4 ‘et Radi A ey uRad+” &

gty [Aseu) :
(A) 32 1 7 (B) {2 2
(C) 1 217 2 6iq (D) GuRsaxil 2034 Al

16. Find the correct statement(s) about the Wildlife Crime Control Bureau (WCCB)
1. It is a statutory body.
2. Its headquarters is located at Dehradun.
Answer codes:
(A) Only 1 (B) Only 2
(C)Both 1 and 2 (D) None of the above
A BYRA, [R19) 643) 213 il PiCLE,'-L GIENE
1. o 218 duuAs 2Ae &
2. A agHas saAgH Wi 21dd B

sl [Aseyl :
(A) WA 1 : (B) M2 2
(C) 1 3 2 6id (D) GuAsdHil 313y Al
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17.

18.

19.

20.

UNESCO has declared 2019 as the International Year of

(A) Tourism. (B) Periodic table of chemical elements
(C) Sustainable agriculture (D) Organic farming

YAl 2019 AL idRAIY A ddly ne 54 0.

(A) Ul (B) RRUAHRLS cecdlg wuad slves

(C) 251G s (D) ¥s widl

Find the incorrect pair of National Park and State:

(A) Sariska National Park - Rajasthan

(B) Mudumalai National Park - Kerala

(C) Bandhavgarh National Park - Madhya Pradesh

(D) Nagarahole National Park - Karnataka '

AN Gard 27, Al LEL ) ikl

(A) AR AU Gall- - AU

(B) HgHalS AU Galln - 330

(C) olitadls ANY Galld - 1L Uzl

(D) -RILIE AN Gaus - salles

Find the correct statement(s) regarding ecological pyramids:
1. The pyramids of number may be upright or inverted.

2. The pyramids of energy are always upright.

Answer codes:

(A) Only 1 ' (B) Only 2
(C) Both 1 and 2 7 (D) None of the above
S51dlse UGBS 2100 0w [Qaie [ [Quil bl :

1. vt s Al 3 Geal S a3,

2. Glaf+ RRLM3 da Aldl Slu 8.

opeuoisil [Aseul :
(A) 4t 1 (B) M7t 2
(C) 1 2 2 6id (D) GuAsaiell 213U ]

Which of the following was added in the UNESCO’s ‘World Network of Man and Biosphere
Reserve’ in 2018 7 , | ‘

(A) Sundarban (B) Similipal

(C) Kanchenjunga | (D) Nandadevi

YRS U oA odlReUR Ravdletl [ Aead’ Hi [t Ul Sl asudaL 201841 sl
Ll gl 7

(A) yeras B) RiAdlua

(C) $uA%0U - (D) ~isledl
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24.

25.

Find the correct statement(s) regarding State Public Service Commissions in India:
1. The Governor can appoint and remove its chairman and members.

2. To remove the member of a State Public Service Commission on the charges of misbehavior,
an enquiry by the Supreme Court is required.

Answer codes:

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) None of the above
%Y SR Adl UL clold WAL RAg [ L Wil :

1. RA%sUUIE drll g i qedln Fgsd s3 93 8 v sadl a3 §.

2. gfdgiRel UAUAR A% A Al WAL AOAA £ S0l BRUML, YN 518 gL dw
HEFUERLS

oganoy [Aseul 1
(A)nL 1 (B) 4o 2
(C) 1 A 2 6iery (D) GuAscuil A3y ALl

Find correct statement(s) about the Vice Chairman of NITI Aayog:

1. He is the ex-officio chairman of Economic Advisory Council to the Prime Minister.
2. He enjoys thé status of a cabinet-rank minister. |

3. Dr. Arvind Panagariya was the first person to occupy this position.

Answer codes: o

(A) Only 1 and 3 | (B) Only 2 and 3
(C) Only 2 | D) 1,2 and 3

U 2uloL AL Guisar [l A (s (-l sl -

1. @ watds(-l 2ulls valesiz uRnexAL Sleel-dl 33 vig Slu 9.
2. 2 3BAe-saue ol wese 629 R B,

~ NN

3. L. (A UALRAUL L SlEl ALBL 537U UM A5 8l

oot [Aseul :
(A) HoL 1 249 3 (B) MloL 2 244 3
(C) W2 2 v (D) 1,23
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30.

31.

32.

Find the incorrect statement(s) about the Indian Constitution:

1. The procedure for amending Indian Constitution is much tougher than for the American
. Constitution.

2. An independent member of parliament can’t introduce a bill for amending the Indian
Constitution. '

Answer codes:

(A) Only 1 (B) Only 2

(C)Both 1 and 2 (D) None of thev above
ol iRl 219 vile [Qaid [ AL alldl ¢

1. ouRdly oitiRe qala sl WEuL AARY tiHiRel sl ay, sB+ S,

2. cRclld slrirerHl At salrl vRA AAEA BUg Uy 2% 53 A3 4l

ool [Aseul :
(A) {1t 1 S  B)HRL 2
(C) 1 4 2 tii | (D) GuRlsaniell 254 sl

Which of the following is not a subject under the concurrent list of our Constitution ?

(A) Marriage and divorce : (B) Bankruptcy and insolvency

(C) Drugs and poisons ' | (D) Public health and sanitation

ppruen siei Axadl AR Ssn puniall sul [y Al ? |

(A) @O M, £921693L (B) 2l A&l 2 saoflaiug

(C) il A R , | (D) 28R 2URNY AL %Il

Which of the féllowing states has the lowest number of seats in its Legislative assembly ?
(A) Goa (B) Mizoram

(C) Sikkim (D) Manipur

Mot 04 su uosusll RaaeuHl Alel >l olsst € ?

(A) | (B) Bl
(C) Russln ‘ (D) 1Ay
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38.

39.

40.

41.

Which of the following is not authored by Kalidasa ?

(A) Malavikagnimitra (B) Mudrarakshasa
(C) Vikramorvashiyam (D) Shakuntalam
2] s34 Qv sifdiei glaL evidl |2 ?

(A) HalasiBaAm (B) HsRl8A

(€) Rsxzasflum (D) Wgray

A. J. Paulraj committee was related to: ,
(A) Free travel to women in Delhi metro (B) Review the Direct Tax code
(C) Disinvestment in non—performing PSUs (D) 5G technology

2. %. dlarie ARR S 2l qsuddl ol :

(A) [Bedl A2l HReuvll W2 Hsd Yausdl  (B) weud 52 ARl 2l
(C) Brt-stfar 32 el RMAL (D) 5% 2slldl

Which of the following Statement(s) is/are correct about Mission Shakti ?

1. It is an anti-satellite missile test conducted by India.

2. India became the 3rd country in the world to achieve such a specialization.
Answer codes: |

(A) Only 1 _ (B) Only 2

(C)Both 1 and 2 (D) None of the above

02 U4l Mot a5 R s MAed [ RAs) il @ ?

1. d ®URd gL 5] 2Ude Guae-RAH] HAWRoL], et 9.

2. 2udl [AdlMcl Mid saL Alou Baui cird Rl SR 3 ol 8.

gL [dsey)
Al (B) HI2L 2
(C) 1 247 2 614 " (D) GuAsctnizll A Al

What will be the benefit of ISRO’s ‘Pad Abort’ test ?

(A) ISRO will be able to send Indians to the épace‘.

(B) India will achieve self-reliance in launching navigation satellite.
(C) The cost of satellite launch will be reduced further.

(D) IRNSS system will be available to neighboring countries.
BAAL U3 lolld” uRaaell g euey ug) ?

(A) SA SRcld AlSH2A vlasiami Hisdl asdl.

(B) MURe A3LeA Guste U3 s vl FelRdl Mid 5291

(C) Guas naAu-l W ay yedl.

(D) 2udrRHAABAA Yauel-l YR udell 2 @HG.C*L 9,
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45,

46.

47.

Find correct statement(s) about the Desai-Liaquat pact:

1. It had a provision of seat sharing between the Congress and the Muslim League in the
Central legislature in 60:40 ratio.

2. It was formally endorsed by Congress in 1945 and Muslim League in 1946.
Answer code: |

(A)1 only ' (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

2ALS -[@ULsd AR [Q 4oy Rde [« Wl :

1. dui 3l=u Qaurizal sl 2 YRy dloy a2 60:40 el ssa-l qeug[lv[l CREIE)
edl.

2. drl 5131 gl 1945 1 2n yRay dlol gl 1946 3l »uARs Ad Amd+ 2uaml 21 o,
gl [dseul :

(A M 1 | (B) Wl 2

(C) 1 344 2 6iq (D) 1 a2 Usl 28 yat Al

Who said: ‘So long as the millions live in hunger and ignorance, I hold every man a traitor,
who having been educated at their expense’ ?

(A) Swami Vivekananda (B) M. K. Gandhi

(C) B. G. Tilak " o (D) Jawaharlal Nehru

‘ol YHl clvil ALSL UL AL it @A 9, Al YL § s MR 2udldl ag) ¢, ¥
adsl vl [gel Aaef 87 g 5191 56 ed ? |

(A) 2l [Adsi-e (B) 2. 3. 2l

(©) oll. . [aas (D) agEld A8

Find incorrect statement(s) about Alfonso de Albuquerque:

1. He was the first governor of the Portuguese in India.

2. He prohibited Portugese men from marrying Indian women to ensure the racial supremacy
of white people.

Answer code:

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2
U1 & eoss (A vilel [Rdext [ L aldl :

1. d Rl WGl uan ataxdR gdl.

2. Rl Rd WAl della deluRaid yAld sal ol ytirt iy el Al qon st
U2 nulasly i) edl.

ol [Aseul :
(A) 1t 1 | (B) Mt 2
© 12264 (D) 1 a2 Ugl 28 e gl
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48. Which of the following river(s) 'oﬁginate from Aravalli ?

1. Luni 2. Sabarmati 3. Mahi

Answer codes: _

(A)Only2. . ; (B) Only'1 and 3
(C) Only 1 and 2 (D) 1, 2 and 3
DAAniel 55 €l [ Al maeelHidl Gemad © ?

1. goll 2. Aol 3.l

ogeuet [dseul :

(A) §5d 2 (B) $5d. 1 %1+ 3
(C) 5 1 244 2 ‘ (D 1,2213

49. Find correct statement(s):
1. RBI is the majority shareholder of National Housing Bank.
2. RBI is the majority shareholder in NABARD.
Answer code:
(A) Only 1 | (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2
L [Raex [ Al bl : |
1. 24R6024S Aard slGRIoL sl sigdl ARl B,
2. Re{l241S Aol etgidl AleR O,

et [Aseul : ,
(A) 32t 1 ‘ (B) A 2
(C) 1 241 2 6 (D) 1 2Aual 2 UsL s vl el

50. Find correct statement(s) about NITI Ayog’s SDG India Index 2018:
1. It classifies the states into four categories : Achiever, Frontrunner, Performer & Aspirant.
2. Gujarat has been put in the frontrunner category.
Answer code:
(A) Only 2 (B) Only 1
(C) Both 1 and 2 | (D) Neither 1 nor 2
R 2uEloL Audlew S Yasis 2018 [Qa-AL w1 (Rdes [ AL Ll :
1. A ol AR Aelui qollsrel 53 & : 2RAR, $vernr, ush{z 2l A2,
2. 99U §v2ei Aol sl i B,

ogcnoi-t [dseul :
C(A) WAL 2 (B) Hlot 1
(C) 1 27 2 6iA (D) 1 a2 Ul 215 ugL <1l
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54.

55.

56.

The Wakhan corridor is situated between and countries.

(A) Afghanistan and China (B) China and Myanmar
(C) India and Myanmar (D) India and Bangladesh
quiie, QIR i, el 923 Rad 8.

(A) sl e e, _ B) Al 2 AR
(C) SUR L RAIAHIR (D) GURd . slidalz,

Which of the following statement(s) is/are correct regarding the Temperate Evergreen forests ?
1. They are commonly found along the western margin of the continents.

2. Only hardwood trees are found here.

Answer code: |

(A) Only 1 o (B) Only 2

© Both. 1 and 2 (D) Neither 1 nor 2

Auldielly AsroelR ol [ M U4l 4 Maen [ Mdsdl 2 /w2 ?

L. el usied da wdletl wly drswl Bl IR ETICT KT T

2. 2l §5d Yud s 9l R A D, |

gty [dseul :
(A) "ot 1 \ (B) M7t 2
(C) 1 211, 2 6iq (D) 1 2 2 Hiedl s ywL AR,

Find the correct pair(s):
1. Name of Cyclone Vayu was proposed by Bangladesh.
2. Name of Cyclone Titli was proposed by Pakistan.

Answer codes:

(A) Only 1 (B) Only 2
(C)Both 1 and 2 : (D) Neither 1 nor 2
ARl AL Al ),

1. Ascld Ay UM SPAURA gl HelRd scMi 2 o .
2. A5 [Adellg s Wi gl HcAd s 21y o .

ot [dseul : |
A)ssdl | (B) §5d.2

(C) 1 A 2 6iq (D) 1 217 2 Hiell A5y <R
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57.

Find the correct pairs of countries with sea borders:

1. Caspian sea : Iraq 2. Black sea : Turkey 3. Red sea : Saudi Arabia

Answer codes:

(A) 1 and 2 only (B) 2 and 3 only

(C) 1 and 3 only (D)1, 2and3

AYs AL HR1ddl saldl 00 Adil bl

1. sURMYA A OUSs 2. S0 AYys : gsl 3. AUl AYg : ABEL 2B

e [Aseul :

(A) 85 1 %A 2 . (B)ssd2¥A3

(C) $5d. 1 244 3 o D) 1,254 3
58. Which of the following is not an example of fold mountains ?

(A) Rockies, North America (B) Sierra Nevada, North America

(C) Andes, South America | (D) Alps, Europe |

{12+ Usl 59 A3uddle] Gelee el ?

(A) sy, Gar AARs | (B) RAL Aadl, Gz 23R 41

(C) 2=dloy, slat AR (D) 2, YAY

59.  Which of the following statement(s) is | are correct ?

1. Chandra Tal lake is located in Madhya Pradesh.

2. Wular lake was formed beqause of tectonic activity.

3. Bhimtal lake is located in Uttarakhand.

Answer code:

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 1 and 3 , (D)1,2and 3

[t U4l suL (RAen [ Rded a8 ?

1. HAUE Al Ag e AR 2ag 8.

2. 9aR ARzl - 252 R AURARA 5128 48 ool

3. Gruvizui ofludid AaR w1Ag O,

oot [Asedl : |

(A) oL 1 2t 2 ’ | (B) Hin 2 1A 3

(C) "zl 1 ¢ 3 D) 1,243
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63.

64.

65.

What was the objective of Operation Sunrise (2019) ?

(A1t vx;as a joint mission carried out by India and Myanmar against the insurgent groups.
(B) It was a joint military exercise by India and Japan.

(C) It was a relief mission by the Indian Navy during Cyclone Titli.

(C) None of the above. V

2R Yaulsd (2019)1L GRaL g el ? ,

(A) A saviIR 22 [A36 HIRd 2 RAUHHIR gL Sl HAML A A5 AYsd P e
(B). d Gl el AUl D5 AYSA YSIeAR . |

(©) d [Rdel usaid eARAUA Asd s10 32 sl AL o 28 Baq ef.

(D) Guilscuisl A3u =, |

Find the incorrect pairs(s):

1. BrahMos : supersonic cruise missile

2. Agni-5 : intercontinental ballistic missile

3. Nag : anti-tank missile

Answer codes:

(A) 1 and 3 : (B)2and 3

(C) Only 3 | (D) None of the above:
vl A (L) ikl :

1. alsHl : vicuerell aladl ad(ld £ uuRa
2. 2B-5 ¢ idvidly sdARes uauRA
3.7t 2ewudl (AL Méwe

et [Aseul :
(A) 1 2 3V v (B) 2 i 3
(©)85d3 | (D) GuRlsamig] 213y ]

What is the objective of ‘Yellow vests movement’ seen in news during 2018-19 ?
(A) It is a movement of youth in USA against Trump administration.

(B) It is a movement against BREXIT.

Oltisa movement against econdmic problems in France.

(D) None of the above. .

2018-19 i xRl A wadl Uell sorell a0+, g 4 8?

(A) Q Y. 2.3, Hi 2w adlae Qg yawildl anam .

(B) d allsre-u [Qudl yaaan 9.

(©) A stvui 2URfs wHlAL QA 2090 8.

(D) GurlsdHial 213y A4l
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67.

Which of the following is/are correct about Pravasi Bhartiya Diwas ?

1. Itis organized under the aegis of the Ministry of Culture, Government of India.

2. The theme of 2019 was Role of Indlan diaspora in developing new India’.

3. India celebrates this day to commemorate the return of Gandh131 from England to Indla
Answer codes:

(A) Only 1 | ~ (B) Only 2

(C) Only 2-and 3 (D)1, 2and3

uaR{l surcly [Bax (A Mt Ul syt R [ el a2 & ? |

1. Al GUIR ARSI ARG HrladAL AUl S50 20y s3] 21 |

2.2019 | &ll4 “AAdllt ouRertl Rsn eurdld szl CIEETRIR

3. §oarsell ol cud urd iadidl weolldl w2 eurd w1 RBax 6xd B,

g [Aseul :
(A) "=t 1 .  (B)HIA 2
(C) A2 2 3 - (D) 1,234 3

Find the incorrect statement(s) about Financial Action Task Force:

1. Its aims to curb money laundering at the global level.

2. Its headquarter is located in Paris.

3. It added Pakistan in blacklist category in February 2019.
Answer codes: |

(A) Only 1 and 2 (B) Only 2
(C)2and 3 (D) Only 3
[Adla sifaudl sifea 2031 vzt [Rdesi(-il) il :

1. def @ dlus 2dR sl deiglluen Asald .

2. dd, yeuiay WUl Rad &,

3. A8l 3091-2019% Wlir oA sfire Aelui sy 6.

e [dseul :
(AL A 2 (B) 3t 2

(C) WnL 2 A 3 v ' (D) | 3
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69.

Find corréct statement(s) regarding ‘ASEAN’:

1. There were only five member nations when it was founded.
2. India and Pakistan have an observer status in ASEAN.

3. Manila is the official secretariat of ASEAN.

Answer code: |

(A) 1 and 2 only : (B) 1 only
(C) 2 and 3 only (D)1,2and3
UL Aol A (Rdedl 2yl gl :

1. dll eyt gl UL (AHD) HIPL Ui AGY AL sdl.

2. MRd A WBdiA 2uRuul Rdlas e 4d ©.

3. R o AR ARy Hllami o,

GuRLsdHirl sl [Adee (i) 2] (D) © 7

ogeuet [Aseul :
INEICR R ' (B) i~ 1

(C) HI>L 2 ¥ 3 o (D) 1,23
Find the correct statement(s) about BIMSTEC: '
1. It was founded in 1985.

2. Its headquarter are in Kathmandu.

3. Its 2018 summit was held in Dhaka.

- Answer codes

(A) Only 1 and 2 (B) Only 2 and 3

(C)1,2and 3 : (D) None of the above statements
ofluzes (A9 WL Rdedt [ Rde-l Akl

1. dsfl 22unL 1985 Ml U edl.

2. e Hud Has s1eHgHL 9.
3. dul e 19 AGY 2L 9.

ogaoi-it [Aseul :
(A) HI2L 1 2 2 (B) HI2 2 4. 3
(©) 1,23 (D) GuLsamiall 2134 (s <Al
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70. What is/are the official criteria for assigning ‘Classical Language’ status to an Indian language ?
1. It should have a recorded history of 1500-2000 years.
2. It should be an official language of minimum one state of India.
3. Its literary tradition should be original and not borrowed from another speech community .
Answer code:
(A) 1 and 2 only . (B) 2 and 3 only
(C) 1 and 3 only - (D)1, 2 and 3 :
Gl el ‘rally eumy (seuRise dody) L £ 2l HielL ATUAUR HIUES g & 7
1. dll 1500-2000 <M<l <lltidel Slasi sl A,
2. o GURd-L 20Ul il 25 Al 2B eumL €Ll ASA.
3. a-fl l8leus uiu AUas Slell ASH 2 wied uysiudl olienizll Gl dld) « el BASA.

ggauet-it [Aseul : |
(A) Mol 1 24 2 (B) Hi?t 2 44 3
(C) {2 1943 (D) 1, 2 31 3

71. Find the correct statement(s) about the ‘“Woods Despatch’ (1854):
1. It was the first compfehensive plan for the spread of education in India.
2. It recommended that high school education should have two divisions - literary and vocational.
3. It recommended grants in aid to encourage private enterprises in the field of education.
Answer code: ‘
(A) 1 and 2 only (B) 1 and 3 only .
(C) 2 and 3 only (D)1,2and 3
‘g3 30U’ (1854) ([QQ oy [Rdext [ AL 2l :
1. GlRcH [Rateinl HaR M-l 24l Had, s dloreil sdl.
2. A9 crama 53 3 wBs Qe o Reusl dlat A - wRRLS w1 enals.
3. dQl [Qawel &3 vuoll AneALL Grioge FUudl U2 AsIUS Brsinrl sermal 53,

et [Aseul : |
(A) Mol 1 243 2 | C(B) ML 1 ¥ 3
(C) HInL 2 ¥4 3 - (D)1,2%13
72. What is the meaning of ‘Ahara’ with reference to .the Satvahana period ?

(A) Districts o (B) Zamindars
(C) Revenue , - (D) Bonded labourers
Aldalsd 510 Aee] DI’ woedl 2 g 9 ?
(A) Brecuil - (B) ¥Rl

- (C) Mdyd : ' (D) al3uL 1Rl
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73.

74.

Find the correct statement(s) about the ‘Gandhi Peace Prize’:

1. This annual a§vard was instituted by the Government of India in 1995. |

2. The Jury of the Gandhi Peace Prize is headed by fhe home secrétary“of the union government.
3. This award is given only to Indian citizens. |

Answer code: v

(A) l'and 2 only (B) 1 only

(C)2and 3 only‘ ' ' (D) None of the above

Uil a1l yrs1’ [ w0l Mded [ AL 2kl :

1. 9 1995 3l elld U512 gl 21 Alls LS e 22N 52U el sdl.

2. 2l 2ild yars1e-l wiell AR (y)g Ao 3 ARs1xL s ARG GIRL S2AME A B

3. 2l Y512 §5d URClY LR 2wl 20 8.

ot [QAseul : |
(A) HIoL 1 w4 2 ' (B) HI~L 1
(C) Hint 2 vt 3 : (D) Gusaniall A3y Al

Find the correct pair(s) of organizations and founders:

1. Indian National Liberal Federation - Surendra Nath Banerjee
2. Indian Social Conference - M.G. Ranade |

3. The Servants of India Society - Dr. B.R. Ambedkar

Answer code:

(A) 1 and 3 only " (B) 1, 2 and 3
' (C) 2 and 3 only ‘ (D) 1 and 2 only

AL A drtl eusil w1 A i) ikl :
1. S[Rgun Aad [QoiRd 3338 - Yivs e 614w
2. SlFeu AU Slvs - 214, AA

3. ddw2y s SFUL AR - AL, ol 2R, 28R

ogeuoie [Aseul :
(A) HinL 1 214 3 (B) 1,23
(C) {1 2 ¥ 3 - (D) WiaL 1 21 2
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99. Which of the following phrase correctly defines ‘Stagflation’ ?

100.

(A) Too much money chasing too few goods.

(B) Persistent high inflation, high unemployment & low growth.
(C) Price rise due to increased cost of inputs.

(D) Persistent low inflation, low unemployment and low growth.
Rt U4 sl a0 wyes osdau-a ARl d cvld 526 ?
(A) Rl Yu1 o ALl Yol 8 9. | |
(B) ¥dd G éoucﬁ, G SRYOULL 2L 2 8.

(©) Gewss el afdl Buan dld cuaquirl.

(D) Acld M §UL, 2 BRI 2 veu Qlg.

Find the correct pair(s) of committee reports and their objectives:

- 1. Baba Kalyani Report : Special Economic Zones

- 2. Nandan Nilekani Report : Digital Payments

3. Injeti Srinivas Report : Insolvency Law

Answér code:

(A) 1 and 2 only (B) Only 3
(©)Only2and3 . (D)1,2and3
A ;&@,q@ 2 Al gl atzﬂ&& (11) Q4L :

1. ol seqigll RULS : [y »ulls &oll

2. e RAs RUE : Riyea ysasllail

3. Sl slRau RS : ueldl-l siuel

et [aseul

(A) ML T A2 - (B) ®At 3

(C) M 23 | (D) 1, 2 7 3
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